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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2016 055 1 

ELECTIVE COURSE : COMMERCE 

ECO-011 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 

questions from the remaining questions. 

1. Mr. Ankit is employed in a private company in 14 
Hyderabad on a monthly salary of 25,000 per 
month and a fixed commission at the rate of 1% 
on turnover. The sales effected by him during 
the previous year amounted to 40 lakh. He was 
paid D.A. at the rate of Z 6,000 per month which 
is part of basic salary. He was also allowed House 
Rent Allowance of 5,000 per month. He stay in 
his own house. The employer has contributed 
15% of his salary to a recognised P.F. and similar 
amount was contributed by Ankit. Interest 
credited on the balance of his P.F. at the rate of 
9.5% which amounted to 38,000 during the 
previous year. Compute his total income for the 
assessment year 2015-16. 

2. (a) Discuss the provisions of the Income Tax 	8 
Act 1961 regarding determination of 
residential status of an individual. 
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(b) Mr. A was in India till December 31, 2015 
and leaves India for U.S.A. on 1 January, 
2016. What will be his assessment year for 
the income earned in India during the 
financial year 2015-16. 
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3. (a) Mr. Satish is the owner of two houses which 	6 
he has occupied for his own residence. 
Following are the details of two houses : 

House - I House - II 

Standard Rent 30,000 60,000 
Municipal Value 32,000 56,000 
Fair Rent 40,000 58,000 
Municipal Taxes paid 10% 

Compute income from house property of 
Mr. Satish for the assessment year 2015-16. 

Define the term capital asset. State the items 
which are not included therein for capital 
gains purposes. 

4. (a) Distinguish between previous year and 
assessment year. How would you 
determine the previous year of newly 
established business. 

(b) Discuss due date of filing of Income Tax 	4 
return. 

5. (a) 

(b) 
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Give examples of six income which are 
taxable under the head income from other 
sources. 

Explain the rules for set off and carry 
forward of capital loss. 
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6. (a) What is agricultural income ? What are 	6 
the rules for integration of agricultural 
income with non-agricultural incomes. 

(b) Distinguish between exempted incomes and 6 
deductions from gross total income with 
examples. 

7. (a) What is perquisite ? Discuss the rules for 	6 
valuation of rent free accommodation 
provided by the employer. 

(b) Explain the provisions of Section 80 C of 	6 
Income Tax Act regarding deduction from 
GTI. 
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1. 	t. 367 -cr4 -oi -13:191- 14 	Ta• *I d4 t7-P7 "4 14 
Z 25,000 31 1 1  ff dcil'2TT fq-A-  TT 1 i;ri-a-qm T-4711- 

 WI:1179 31P7F ilcit t I Tr a-44 4 zqk TU Z 40 ciRg 
"f4A-  '"I• Tit 1314 Z 6,000 TifailitTTOTTI 4W1 keil 71"z1T 

It act 	-i if 3#1 tl AZ 5,000 31ffil:17 4-14)1-1 f*- UziT 
1.9'1 111'111cl' I 	W4 7zizit 4-i4h1l -41 	f 1 mHikd 

--qmr ffffn 4 keilekli WI 3-#7T9' ()c-il t 15% 	7 
2Ti.  ch1-111(1 gm iff GikicR 3f7r<T9 rentit TPIT I 94f-4194 

ffffiT **II TIT 7Trdisf 14 9.5 3fr-d7iff 	7 	04.11\71 -4-  
1 kl Z 38,000 t I W{ fffNiTur -q1=1 2015-16 * mi 
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(b) aTlzr*7 fa afut 	 d 2T Wr 	4 

au ch I 

5. (a) 	31 	31-)t 	311zi 	3T 	X11 iq 	6 

31T4i   qrlr,,R 

(b) 	t-41 77 	ti+-1143-1-1 IT 	t 	1,11 -11- 	6 
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6. (a) 	1) 	ti 3-77:{ W T-0:174 t? cp ti -ff2TT 3-1-frEf 3-Trzi 	6 
t 11,1fffil, 	P-11 1-1 ;Err t ? 

(b) `W{IpT1 aTTA" -ff2TT 4  tiqbri To 3171 WMff' -4 	6 
144qtr-441 l•-ii t To dclul tr.-A.4 I 

7. (a) 3T-IWIT W.  t? Piq)cicii girl ft7PIT TU 114)11 	6 
giant ii14,-1TrIzffimfizrgiftf auk ---1-F-A 1 

(b) 3-74 	alf 41-1-4114 	im 80 C t 3i c . 	6 
1-.t.aTt (GTI) 14l- 1:11z1-4ff 3fT4NT91 -tl-
044 i(30-ii W1174 I 
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